7 R Roll No. Annual 2018

Mathematics (INTERMEDIATE PART -1, Class 11" ) - AV) Paper : 1
Time: 30 Minutes ~ Objective Code : 6197 Marks : 20

Note: You have four chmces for each objective type question as A, B, C and D. The choice which

you think is correct, fill that circle in front of that question number. Use marker ot pen to fill the

circles. Cutting or filling two or more circles will result in zero mark in that question.
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(n—r)t

is always equal to

(A) "D, . ®) ", © P, (D) 73

. If l,r’aj, 1/b and 1/c are in G.P then common ratio is equal to:

(A) t < . (B) i\/g (©) tJa+e (D) tva-c¢
a ¢
iii. Sum ofn- arithmet.ic means between a and b isequal to:
- — b a+b
w e 2l © att o) D

2 2 2 2

—4-+ i is a pamal fraction form of the proper fraction:
v, x-1 x+ 1 _

| !
1 ®) 1 © 1 (D)

%? = x =1 x+1 41

(A)
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V. If *x-2’isa factor of polynomial x’+2x* +kx+4 thenk equals:
(A) 10 (B) .10 (€) 2 (D) 4

vi. The sum of all cube roots of unity equals:

(A) 1 (B) @ ©) 0 (D) @’
o L 2 3%
vii. :
Let A={2 3 6x| then |4| isequalto:
3 5 9x|
(A) (B 3 ©) 2 (D) 0

viil, If A is asquare matrix and 4’ = 4, then A is called

(A) hermitian matrix (B) skew hermitian matrix (C) symmetric matrix (D) skew symmetric matrix
ix. If ‘p’is alogical stétemcnt , then pA ~ p is always:

(A) absurdity (B) contingency  (C) tautology D) conditional
X. If (x+iy)’ =a+ib then x’-)* equals:

(A) a’ + b (B) a’-b (C) a-b (D) a+b
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Xi. Pelriod of Cot x/2 isequal to: g - /l. - /c?

(A) 2T (B) 4r (©) r (D)

A coin is tossed twice then probability of getting all heads equal:

Xii, (A) 1/2 (B) 173 (©) /4 (D)
aifi- _& b =—<_ is called

Sinae  Sinf  Siny

(A) Sine law (B) Cosine Law () Tangent law (D)

XiV. 1f o P and y are angles of triangle ABC, then cos(a;’ﬁ) will be equal to :

(A) Sina (B) Siny () Sing (D)

3r

Fundamental law

Sin

XV. In an oblique triangle ABC, if a=2 and « =30°, then circum- radius ‘ R’ is equal to:

(A) 4 (B) 3 ©) 1 (D)

RIL g1 [A\/l ~B +BJI- AZ} is equal to

(A) Cos"'4+Cos™B (B)  Cos™'A-Cos™'B (C) Sin"'4+Sin'B (D)

XVil.

The solution of Sinx = —73 in interval [0,2:?] equals
4z 27 4z Sz 7 St

A . e B T C T D

(A) 33 (B) - r ©) T (D)
™ Second term in the expansion of (+/x +~~2»~~1—i—)]0 equals:

X

(A) Byt (B) 10x%"° () 10x°"2 (D)
XiX. If the number of terms in the expansion of (a+5)" is 16 then ‘n’ equals

(A) 18 (B) 16 (&) 17 (D)
xx. Length '/' of an arc of a circle with radius r and central angle & isequal to:

(A) r'@ (B) ré (C) r@? D)
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[ Roll No. Annual 2018
( INTERMEDIATE PART -1, Class 11" )

Mathematics : Paper : 1
Time : 2:30 Hours (SUBJECTIVE) Marks : 80
Note: Section I is compulsory. Attempt any three (3) questions from section L.
(SECTION—1)
Z. ‘Write short answers to any Eight parts : (8 x2=16)
| -1_5 _-21-10 |
i. Provethat 12 18 36
2-Ti
ii. Separate 4+5! in to real and imaginary parts.
iii. If Vg ,zeC provethat z+z,=z+2
iv. Show A-B and B-A by Venn diagram when A and B are overlapping sets. (1+1=2)
v. Show that the statement ~ (p—>g)—> p is atautology.
vi. Find the inverse of the relation{(x, y)/y =2x+3, x em) .
. 2 3 -2 _ 2 31
: A= 5 “ls o4 -
VL. golve the matrix equation 3X - 2A = B. If -1 4 and
(1 -1 1 _[ 0]
Viil. \_ﬂ b | and ¢ 1 J, find the values of aand b
1X. Deﬁne co-factor of an element of a matrix .
X . Solve by completing square xz -3x-648=0,
Xi. Solve the equatlon P +8=6x"
xii. Show that x* —y* =(x- y)}(x~ aJy)(x —w'y) where wis the cube root of unity.
3. Write short answers to any Eight parts : (8x2=16)
x*+1
I.  Resolve *' -1 into partial fraction. (1+1=2)
I 1 | N JE
I. 1f a’b’c arein G.P, show that common ratiois V¢ . (1+1=2)
iii. Whichtermof AP 5,2, -1, ...... is -857 (1+1=2)
iv. Define G.M between two numbers ‘a’ and ‘b’ and show that
(G.M) geometric mean = ab (1+1=2)
' : y=2
. 3 X =
V. Inseries Y=1t2x+4¥ +8% 4. showthat 2V . (1+1=2)
vi. If 9=-2,5=-8 £in4 G andH, also show that G <H for (G <0) with
usual notation. (1+1=2)
» .
VI prove that Pr =" Pr , where p ispermutation.
\{iii. How many necklaces can be made from 6 beads of different colours? (1+1=2)
ix. How many triangles can be formed by joining the vertices of polygon
having 8 sides? (1+1=2)
X. Showthat 1 T2+4+..+2" =2"~1 istrje for n= 4 ;S (1+1=2)
Xi. Show that 7 +7 is divisible by 2 forn=2, 3. (1+1=2)
Xil. Expand (2 -3x)7 up to three terms. _ (1+1=2)
4. Write short answers to any Nine parts : a (9x2=18)

1.

tanz/3—-tanz/6
l+tann/3tanx/6

Cos6@—Sing@ Cotf -]

Evaluate

" Prove that Cosé + Sind T Cotf+1 _
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iil.
iv.

vi.

Vil.

Viil,

iX.

Xi.

Xil,

Xiil.

Note:
5. (a)

(b)

7. (a)
(b)

8.(a)
(b)

9. (a)

(b)

inf 2 Shv *}?

(Cosf —tan 8)* = ‘(—1“:5}.1_) .

Prove that 1+Sin6

By using fundamental law of trigonometry, show that Sin(z/2+a)=Cosa
Sin(45" + ) = L(Sz'noz +Cosa).

Prove that V2

Find the period of Cot 8x .

Find that value of ¢052¢a forCosa=3/5where0<a<n/2

If f=60", y=15",b=+/6 then find ¢ and @ for any triangle ABC.
Find the area of triangle, given two sides and their included angle,

a=433 , b=925  7=3644"

Show that 7 =5 tan%.

Find the value of the expression Cos ec( tan™ (—l)) .

Find the solutions of sinx= —-\g in [0 ’_M].

Find the value of ¢, satisfying the equation 3tan’ 6+23tan 6 +1=0

(SECTION-1T1)

Attempt any three (3) questions: 3X10=30)
Convert 4V (BNC)=(4UB)N(4UC) (4 jogical form and prove by constructing
truth table. : @+3)
Use Cramer’s rule to solve the system: .

XXy x5=8

X, +2x,+2x,=6

Bl L (2+141HD)

fi i (alr:mr':+c:)2 _ o
Prove that @’ b* will have equal roots, if ¢’ =a'm’ +b’ (5)
Resolve into partial fraction:
X +2x+2 /
(x* +x+1) (5)
Find the sum of an infinite series 7+ {1+ +(+E+E)r +oce. (5)
(1+x)?
Find the co-efficient of x in the expansion of ( -x) (5)
: tan & +secd-1
=tanéd +secd
Pr}o\;e that tan& —secf+1 (5)
Reduce S ¢ to an expression involving only function of multiples of &,
raised to the first power. (8)
Prove that:  abc(sina+sin B+siny)=4as using usual notations. - (5)
sin”™ 2 +sin™ 2 Cos™ e

Prove that 13 13 325 ()
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